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51 B¢ M A @R | BRREE BRiELX | BEERAZE| BEIE
m W/(miK) W/K
=1 TER(IVihig) KEE- KB 7 7.87 0.491 3.862 0.017 0.059
=3 TESR(IVHhig) KEE-KEE 4 412 0.491 2022 0.017 0.016
BE-gE TER(IVihig) KEE- KB 7 470 0.491 2.306 0.017 0.035
EBE-BE TE R (IV Hhigh) KEE-KEE 3] 8.90 0.491 4.367 0.017 0.058
=61k TER(IV H#hig) HEE-KEE 2] 5.95 0.717 4268 0.024 0.057
=6hh TER(IVithig) EEE- KB B 4.70 0.717 3.371 0.024 0.052
A - KM TER(IV Hhig) HEE-KE: R 2.21 0.717 1.585 0.024 0.024
I B TER(IVihig) KEE- KB It 2.21 0.491 1.084 0.017 0.009
UR i TE R (IV Hhigh) KEE-KEE it 2.21 0.491 1.084 0.017 0.009
REE TER(IVihig) KEE- KB it 3.57 0.491 1.752 0.017 0.014
BE TESR(IVHhig) KEE-KEE B’ 441 0.491 2.164 0.017 0.033
BE TER(IVihig) KEE- KB it 3.57 0.491 1.752 0.017 0.014
fEFr TESR(IVHhig) KEE-KEE B’ 1.37 0.491 0.672 0.017 0.010
b4 | TER(IVihig) KEE- KB It 2.02 0.491 0.991 0.017 0.008
WA TE R (IV Hhig) KEE-KEE [i] 4.41 0.491 2.164 0.017 0.033
R TER(IVihig) KEE- KB it 468 0.491 2.297 0.017 0.019
ya—y TESR(IVHhig) KEE-KEE i} 2.21 0.491 1.084 0.017 0.017
EFE TER(IVihig) KEE- KB 7 6.91 0.491 3.391 0.017 0.052
HE1 TESR(IVHhig) KEE-KEE 2] 470 0.491 2.306 0.017 0.031
HE2 TESR(IVHhig,) KEE-KEE 2] 5.80 0.491 2.846 0.017 0.038
FEE TER(IVihig) KEE- KB 3] 5.63 0.491 2.763 0.017 0.037
FEE TESR(IVHhig) KEE-KEE B’ 9.11 0.491 4470 0.017 0.068
ya—Eyk TER(IVihig) KEE- KB B 4.41 0.491 2.164 0.017 0.033
ya—tEvk TESR(IVHhig) KEE-KEE 4 448 0.491 2.198 0.017 0.018
Ex TER(IVihig) KEE- KB it 3.02 0.491 1.482 0.017 0.012
FEEX TE R (IV Hhigh) KEE-KEE it 357 0.491 1.752 0.017 0.014
fErfT TER(IVihig) KEE- KB it 3.57 0.491 1.752 0.017 0.014
fr = TER(IV Hhiz) AR Z 80 4 4.30 0.667 2.870 0.023 0.023
fRZE TER(IVHhiE) IFZ= R i3] 4.30 0.667 2.870 0.023 0.038
fr = TER(IV Hhiz) AR Z 80 B 287 0.667 1.915 0.023 0.029
fRZE TERE(IVHhiE) IRZ= R [if] 2.87 0.667 1.915 0.023 0.029
L 134.65 71.521 0.904
= i A | mE | BRRE BIEX | BHEEAZFE| BEIVE
m W/(miK) W/K
aff —E 2RHGEEEAS) 7 0.96 4,650 4.464 0.790 0.341
EE-&F —E €RHGEREAS) [i] 1.92 4,650 8.928 0.790 0.683
B - & —E 2RHGEEEAS) i3] 3.20 4,650 14.880 0.520 0.649
EE-&F —E €RHGEREAS) 3] 2.24 4,650 10.416 0.520 0.454
ME6hh —E 2RHGEEEAS) i3] 2.88 4,650 13.392 0.520 0.584
FI=E6nh —E €RHGEREAS) R 1.92 4,650 8.928 0.790 0.683
REE —E 2RHGEEEAS) it 0.84 4,650 3.906 0.539 0.109
BE —E £EHFEEA6) it 0.84 4.650 3.906 0.790 0.159
fErfT —E 2RHGEEEAS) B 0.84 4.650 3.906 0.790 0.299
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WA —E £EHFEEA6) it 0.84 4.650 3.906 0.790 0.159
EE —E 2RHGEEEAS) [if] 1.92 4,650 8.928 0.502 0.434
HEE —E €RHGEREAS) 3] 1.92 4,650 8.928 0.215 0.161
FE2 —E 2RHGEEEAS) 53] 1.92 4,650 8.928 0.215 0.161
FEE —E €RHGEREAS) 3] 3.84 4,650 17.856 0.215 0.323
FEE —E 2RHGEEEAS) B 1.92 4,650 8.928 0.502 0.434
yR—Eyk —E €RHGEREAS) it 0.48 4.650 2232 0.790 0.091
=5 —E £EHFEEA6) it 0.84 4.650 3.906 0.539 0.109
2 —E 2RHGEEREAS) it 0.84 4,650 3.906 0.539 0.109
fEFr —E £EHFEEA0) it 0.48 4.650 2232 0.539 0.062
&t 30.64 142.476 6.002
F7 M A @R | BRREE BRiELX | BEERAZE| BEIE
m W/(miK) W/K
aff AEEERE) it 0.84 4,650 3.906 0.158 0.032
b AEFEERE) it 2.76 4.650 12.834 0.158 0.105
&F 3.60 16.740 0.137
X+ M A mR | BRREE BRiELX | BERAZE| BEIE
m W/(miK) W/K
e TER(IVihig) ERRHF 414 0.228 0.943 0.008 0.032
ya—y TER(IV HhiE) ERRH 1.66 0.228 0.378 0.008 0.013
EE TER(IV HhiE) ERRH 9.94 0.228 2.264 0.008 0.077
FE2 TER(IVihig) ERRHF 11.59 0.228 2.640 0.008 0.090
FEE TER(IV HhiE) ERRH 16.56 0.228 3772 0.008 0.128
ya—+tEvk TER(IVihig) ERRHF 373 0.228 0.850 0.008 0.029
£m TER(IV HhiE) ERRH 2.90 0.228 0.661 0.008 0.022
2 TER(IVHhig) FNZE - BT XH 3.31 0.237 0.786 0.008 0.027
fEFr TER(IV HhiE) ERRH 1.66 0.228 0.378 0.008 0.013
REE TER(IVihig) ERRHF 1.66 0.228 0.378 0.008 0.013
R—IL TER(IVHIE) F1Z=-EBRTRH 373 0.237 0.885 0.008 0.030
&F 60.88 13.936 0.474
373 M A6 @R | BERE BRiELX | BERAZE| BEIE
m W/(miK) W/K
aff TESR(IV Hhig) #RER 6.21 0.407 1.769 0.000 0.000
=3 TE R (IV Hhizh) #RER 1.66 0.407 0.473 0.000 0.000
EBE-BE 7E R (IVihisg) #RER 19.87 0.407 5.659 0.000 0.000
f=o61hh TESR(IVihig) FNZEER 9.94 0.343 2.387 0.000 0.000
=61k TER(IV Hhizh) #RER 0.83 0.407 0.236 0.000 0.000
18 A - R ER(IVihig) HREK 2.48 0.407 0.706 0.000 0.000
BT TESE(IVihiz) HRER 3.31 0.407 0.943 0.000 0.000
2 TEE(Vihig) HxER 1.66 0.407 0.473 0.000 0.000
UR i TESE(IVihiz) HRER 1.66 0.407 0.473 0.000 0.000
REE TESR(IV Hhig) #RER 3.31 0.407 0.943 0.000 0.000
fEFr TESE(IVihiz) HRER 1.66 0.407 0.473 0.000 0.000
R—IL TEE(Vihig) HxER 2.48 0.407 0.706 0.000 0.000
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&t 55.07] 15.240| 0.000|
T REER - EREBTER ME A | mE | BRRE BEXL |BHERAE| BHIE
m W/(miK) W/K
AR &R 0.00 0.075 0.000 0.00 0.00
SNeEIEE BEIVIIT-LRER 178 15 5.46m 0.995 5.433 0.00 0.00
KREARE BEIVIVI+-LMRER 178 15 9.10m 0.995 6.338 0.00 0.00
&5t 11.771 0.000
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